Department of Mathematics and Statistics KFUPM
Quiz 2: Cont+Sampling Dists+CI.   		                                                      Time: 50 mins
Student’s Name: ________________________________ ID: ____________________________
Q.No.1: The accompanying data show the single-leg power at a high workload.
	214
	191
	160
	207
	180
	176
	174
	205

	211
	183
	252
	189
	191
	221
	230
	


a) Construct a boxplot and comment on the shape, showing outliers (if any!)
















b) Compute the coefficient of skewness and comment on its value.






Q.No.2: A random sample of 50 suspension helmets used by motorcycle riders and automobile race-car drivers was subjected to an impact test, and on 18 of these helmets some damage was observed. Using the point estimate of p obtained from the preliminary sample of 50 helmets, how many helmets must be tested to be 95% confident that the error in estimating the true value of p is less than 0.02?







Q.No.3: A company manufactures tube light rods for household use. The length of the tube rods (in meters) is assumed to follow . Any manufactured tube rod is declared defective if its length is less than 0.98 m or greater than 1.02 m. If a random sample of size 10 rods is selected, what is the probability that the mean length is less than 1.01 meter?






Q.No.4:
A manufacturer of video display units is testing two microcircuit designs to determine whether they 
produce equivalent current flow.  Development engineering has obtained the following data:
	Design 1
	n1 = 25
	

	


	Design 2
	n2 = 20
	

	




Calculate a 96% confidence interval for the difference between means of these two designs. Also interpret your results. (Assume that the  and the data are drawn from normal populations.).
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